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dxdy=2(25/100)

f}i‘; [2+(3z—y+l)’+(z+y 1)2)2

Let fi(z) = aro + k12 + ax22% + ... + agz*
ag; > 0, Ef=0 akx.1 = 2 , Show that there is a subsequence

{ fi,(z)}of {fi(z)} which converges uniformly on 0 <x < 1/2.(25/100)

Let f(x) be a continuous function on [0, 00) and there exist constants M >0, P >0

such that [f(x)| < M XP? forall X > 1. Compute

lim n/ f(z)e™dzx

(justify your answer) (25/100)

Suppose A(z) = ( Z;i g; 2253 ) isa 2 X 2 matvix of complex-valued functions,

X €R.a;j(z) are C' in anerghborhood of zy €R. Assume that A;(zg) and Ag(zo)
are eigenvalues of A(zg), A1(zq) # A2(zg) Show that near z, there exists a matrix

function P(X) with C' elements and two scalar C' functions Ay(z), Aa(z) such that
P (z)A(z)P(z) = ( 0 olz) ) Give an example to show that this is not true
2

of Ai(zg) = Aa(zg) (25/100)
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